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Attempt five questions in all. Question Number 1 is compulsory.
Attempt any four questions from question Nos. 2 to 8§
All ‘qﬁestions carry equal marké.
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l.  Write short notes on any two of the following : | 15
(@) Measures of Money Supply
(b) Full employment Budget
() GDP and Social Welfare

(d) Open econorhy multiplier
4 : P.T.O.
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(¢) Explain the circular flow of income in the four sector model.
(b) Trace the steps for calculating national income from GDP at market price.

(c) Distinguish between real and nominal GDP. 5.5.5
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The following information is given for an economy :

C 100 +70.75Y,

T = 200 + 1/3Y,
I = Rs. 100 crores

G = Rs. 100 crores -
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What will be the equilibrium level of income ?
Compute the value of government budget deficit/surplus.
If the lump sum tax is 100, what is the equilibrium level of income ?

Explain the aggregate expenditure function graphically, when taxes are function

of income and when taxes are strictly lump sum. 33.3.6
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C = 100 + 0.75Y,
T = =200 + 13Y,

[ =-Rs. 100 crores

G = Rs. 100 crores

(@ 3F F HIET W F W ?

(h) T HWR/ARE & Ted &I TOAT HIGH |

(¢) A THYYd H 100 ¥, @ 3 F TqeH W & B ?

@ Y@ g0 T o oM F e FNS, W@ HX AE H EeH

g iR = g &

(a) Explain the 'paradox of thrift with the help of a diagram.

(h) Explain the relationship between MPC, MPS and multiplie[v? IfC=50 +08Y,

P.T.O.
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calculate the value of multiplier and explain with the help of a diagram in a two sector

economy. 7.5,7.5
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What is Fiscal Policy ? How fiscal policy has a multiplier effect on the economy ? Explain

with an appropriate diagram. 15
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What is the difference between actual and planned investment ? Explain diagrammatically,

the Saving-Investment approach of determination of equilibrium level of income in a two

sector economy. 5,10
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7. (a) If the central bank wants to expand money supply, how it will use the instruments

to increase the money supply. Explain your answer.

(b)  What will be the amount of credit created in the economy if the amount of initial
deposits with the bank is Rs. 20,000 crores and required reserve ratio is 20
percent ? What will be the effect on credit creation if the Central bank reduces

required reserve ratio to 10 percent ? 9,6
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8. What is meant by demand for money ? Explain the different motives of demand for

money. . L 15
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